Sec 3.6
Polynomial Inequalities

We will be finding where polynomials are
greater than or less than zero.
In order to know where they're "above" or "
below"” zero, we need to find where they cross,
or, the x-intercepts.
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If we know where the
parabola crosses the x-axis,
we can determine on which
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intervals the polynomial is

greater than, or less than,
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Steps-

1. Get a zero on one side of the inequality

2. Determine where it equals zero

3. Test an x value in each interval to determine
If greater than, or less than, zero
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